



Power Series Expansions for Trigonometric Functions via Solutions to Initial Value Problems

Author(s): A. P. Stone

Source: *Mathematics Magazine*, Vol. 64, No. 4, (Oct., 1991), pp. 247-251

Published by: Mathematical Association of America

Stable URL: <http://www.jstor.org/stable/2690832>

Accessed: 30/07/2008 10:18

---

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <http://www.jstor.org/page/info/about/policies/terms.jsp>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <http://www.jstor.org/action/showPublisher?publisherCode=maa>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

---

JSTOR is a not-for-profit organization founded in 1995 to build trusted digital archives for scholarship. We work with the scholarly community to preserve their work and the materials they rely upon, and to build a common research platform that promotes the discovery and use of these resources. For more information about JSTOR, please contact [support@jstor.org](mailto:support@jstor.org).

# Power Series Expansions for Trigonometric Functions via Solutions to Initial Value Problems

A. P. STONE  
University of New Mexico  
Albuquerque, NM 87131

**1. Introduction** The coefficients in the power series expansion of  $\sec(\phi)$ , valid in an interval  $|\phi| < \pi/2$ , involve certain integers that are generally referred to as Euler's numbers. These numbers, denoted by  $E_p$ , with  $p$  a nonnegative integer, may be considered as known through a recursion relation. Tables, such as those that appear in [1], give the values of some of these numbers. There is, however, no simple formula that gives  $E_p$  explicitly;  $E_{60}$ , for example, is a positive integer containing 71 digits. As a consequence, power series expansions for functions involving products of secant functions become rather complicated and explicit formulas for the coefficients in the expansions are rather difficult to obtain. For example, a power series expansion for  $\sec^2(\phi)$  could be obtained from the Cauchy product of the series expansion of  $\sec(\phi)$  with itself. The coefficient of  $\phi^{2n}$  could be easily determined in terms of the Euler numbers. However, expansions for higher powers of  $\sec(\phi)$ , such as  $\sec^3(\phi)$  or  $\sec^4(\phi)$ , have more complicated formulas for the coefficients, though the Cauchy product will, in principle, yield these expressions. Similar remarks may be made concerning the power series expansion of  $\tan(\phi)$  in an interval  $|\phi| < \pi/2$ . The coefficients that appear in this case involve the Bernoulli numbers,  $B_p$ .

In this note an alternative to the Cauchy product method is given for the determination of power series that represent products of certain trigonometric functions. The method involves repeated differentiation of a differential equation and is introduced in Section 3, which follows a summary in Section 2 of certain elementary results from calculus concerning the power series expansions of  $\sec(\phi)$  and  $\sec^2(\phi)$ . The method discussed in Section 3 is applicable to a limited class of functions. It is, however, also a method that may lead more readily than Cauchy products to power series representations of these functions. Moreover, it is applicable as a method of obtaining power series solutions to certain initial value problems.

**2. Power series expansions of  $\sec(\phi)$  and  $\sec^2(\phi)$**  The power series expansion of  $\sec(\phi)$ , valid for  $|\phi| < \pi/2$ , is given by

$$\sec(\phi) = \sum_{n=0}^{\infty} \frac{(-1)^n E_{2n}}{(2n)!} \phi^{2n}. \quad (2.1)$$

The numbers  $E_{2n}$  are the Euler numbers and their values may be found using the recursion relation

$$\sum_{k=0}^n \binom{2n}{2k} E_{2n-2k} = 0, \quad (2.2)$$

where  $E_0 = 1$ .

The formula (2.2) is obtained from a Cauchy product of the series for  $\sec(\phi)$  and  $\cos(\phi)$ . Thus,

$$\cos(\phi)\sec(\phi) = \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \frac{E_{2n-2k}}{(2k)!(2n-2k)!} \right) (-1)^n \phi^{2n} = 1. \quad (2.3)$$

Since  $E_0 = 1$ , formula (2.2) then gives the following values for the next six Euler numbers:

$$\begin{aligned} E_2 &= -1 \\ E_4 &= 5 \\ E_6 &= -61 \\ E_8 &= 1385 \\ E_{10} &= -50521 \\ E_{12} &= 2,702,765. \end{aligned} \quad (2.4)$$

A power series expansion for  $\sec^2(\phi)$  is then obtained by taking the Cauchy product of the series for  $\sec(\phi)$  with itself. The result is

$$\sec^2(\phi) = 1 + \sum_{n=1}^{\infty} \left( \sum_{k=0}^n \binom{2n}{2k} E_{2k} E_{2n-2k} \right) \frac{(-1)^n}{(2n)!} \phi^{2n}. \quad (2.5)$$

We note that the odd order derivatives of  $\sec(\phi)$  and  $\sec^2(\phi)$  vanish when  $\phi = 0$ . The even order derivatives are given from (2.1) and (2.5) by

$$(\sec(\phi))^{(2n)}|_{\phi=0} = (-1)^n E_{2n} \quad (2.6a)$$

$$(\sec^2(\phi))^{(2n)}|_{\phi=0} = (-1)^n \sum_{k=0}^n \binom{2n}{2k} E_{2k} E_{2n-2k}. \quad (2.6b)$$

Hence, for example,

$$(\sec(\phi))^{(8)}|_{\phi=0} = E_8 = 1385,$$

while

$$\begin{aligned} (\sec^2(\phi))^{(6)}|_{\phi=0} &= - \left\{ \binom{6}{0} E_0 E_6 + \binom{6}{2} E_2 E_4 + \binom{6}{4} E_4 E_2 + \binom{6}{6} E_6 E_0 \right\} \\ &= - \{ -61 + 15(-5) + 15(-5) - 61 \} = 272. \end{aligned}$$

**3. Power series expansions** A power series expansion for  $\sec^4(\phi)$  could be obtained by a Cauchy product of the series for  $\sec^2(\phi)$  with itself. An alternative method, which we present here, relies on certain nice features of the secant function. First, let us observe that if  $u(\phi) = \sec(\phi)$ , then  $u$  is a solution of the initial value problem

$$\begin{aligned} (u')^2 + u^2 &= \sec^4(\phi) \\ u(0) &= 1. \end{aligned} \quad (3.1)$$

If we denote evaluations of the derivatives of  $u$  at  $\phi = 0$  by the subscript 0, then repeated differentiation of the equation (3.1) followed by evaluations at  $\phi = 0$  yields

$$u_0^{(1)} [u_0^{(2)} + u_0^{(0)}] = 2\sec^4(\phi) \tan \phi |_{\phi=0} = \left[ \frac{\sec^4(\phi)}{2} \right]_{\phi=0}^{(1)}$$

$$u_0^{(2)}[u_0^{(2)} + u_0^{(0)}] + u_0^{(1)}[u_0^{(3)} + u_0^{(1)}] = \left[ \frac{\sec^4(\phi)}{2} \right]_{\phi=0}^{(2)}$$

$$u_0^{(3)}[u_0^{(2)} + u_0^{(0)}] + 2u_0^{(2)}[u_0^{(3)} + u_0^{(1)}] + u_0^{(1)}[u_0^{(4)} + u_0^{(2)}] = \left[ \frac{\sec^4(\phi)}{2} \right]_{\phi=0}^{(3)}$$

Only even order derivatives can yield nonzero results since  $u_0^{(2k-1)} = 0$  for every positive integer  $k$ . Hence a general formula for  $[\sec^4(\phi)/2]_{\phi=0}^{(2n)}$  can be obtained, and we find

$$\sum_{k=0}^{n-1} \binom{2n-1}{2k} u_0^{(2n-2k)} [u_0^{(2k+2)} + u_0^{(2k)}] = \left[ \frac{\sec^4(\phi)}{2} \right]_{\phi=0}^{(2n)} \tag{3.2}$$

Since  $u_0^{(2p)} = [\sec(\phi)]_{\phi=0}^{(2p)} = (-1)^p E_{2p}$ , we must then have

$$\sum_{k=0}^{n-1} \binom{2n-1}{2k} (-1)^{n+1} E_{2n-2k} (E_{2k+2} - E_{2k}) = \left[ \frac{\sec^4(\phi)}{2} \right]_{\phi=0}^{(2n)} \tag{3.3}$$

Thus we have obtained a power series expansion for  $\sec^4(\phi)$  given by

$$\sec^4(\phi) = 1 + 2 \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{(2n)!} \left( \sum_{k=0}^{n-1} \binom{2n-1}{2k} E_{2n-2k} (E_{2k+2} - E_{2k}) \right) \phi^{2n} \tag{3.4}$$

The first few terms in the series expansion are

$$\sec^4(\phi) = 1 + 2\phi^2 + \frac{7}{3}\phi^4 + \frac{94}{45}\phi^6 + \frac{502}{315}\phi^8 + \dots \tag{3.5}$$

A similar procedure could be used to obtain a power series for  $\sec^6(\phi)$ . In this case we observe that  $u(\phi) = \sec^2(\phi)$  is a solution to the initial value problem

$$(u')^2 + 4u^2 = 4 \sec^6(\phi) \tag{3.6}$$

$$u(0) = 1.$$

Repeated differentiation of the equation (3.6) followed by evaluation at  $\phi = 0$  yields

$$\sum_{k=0}^{n-1} \binom{2n-1}{2k} u_0^{(2n-2k)} [u_0^{(2k+2)} + 4u_0^{(2k)}] = [2\sec^6(\phi)]_{\phi=0}^{(2n)}, \tag{3.7}$$

where

$$u_0^{(2p)} = [\sec^2(\phi)]_{\phi=0}^{(2p)} = (-1)^p \sum_{k=0}^p \binom{2p}{2k} E_{2k} E_{2p-2k} \tag{3.8}$$

Hence we obtain an expansion for  $\sec^6(\phi)$  given by

$$\sec^6(\phi) = 1 + \frac{1}{2} \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{(2n)!} \left( \sum_{k=0}^{n-1} \binom{2n-1}{2k} \left( \sum_{j=0}^{n-k} \binom{2n-2k}{2j} E_{2j} E_{2n-2k-2j} \right) \Lambda \right) \phi^{2n}, \tag{3.9}$$

where

$$\Lambda = \sum_{l=0}^{k+1} \binom{2k+2}{2l} E_{2l} E_{2k-2l+2} - 4 \sum_{l=0}^k \binom{2k}{2l} E_{2l} E_{2k-2l}. \quad (3.10)$$

The first few terms in the expansion (3.9) are given by

$$\sec^6(\phi) = 1 + 3\phi^2 + 5\phi^4 + \frac{92}{15}\phi^6 + \dots \quad (3.11)$$

The success of this method hinged in part on the fact that we chose a particular differential equation whose known solution, an even function, could be repeatedly differentiated and whose derivatives at 0 were known. It is possible to devise other examples for which this method could be applied. The fact that the solutions of (3.1) and (3.6) are even functions is not crucial in the procedure of repeated differentiation of the differential equation. For example, the initial value problem

$$\begin{aligned} u'' - 2u &= 2 \tan^3 \phi, \quad 0 < \phi < \pi/2 \\ u(0) &= 0 \\ u'(0) &= 1 \end{aligned} \quad (3.12)$$

has as its unique solution  $u(\phi) = \tan \phi$ , an odd function. The procedure of repeated differentiation of the differential equation may be applied in this case to obtain a series expansion for  $\tan^3(\phi)$ , since the derivatives of  $\tan(\phi)$  at  $\phi = 0$  are known. Since

$$\begin{aligned} \tan(\phi) &= \sum_{n=1}^{\infty} \frac{(-1)^k 2^{2k} (2^{2k} - 1)}{(2k)!} B_{2k} \phi^{2k-1} \\ &= \phi + \frac{1}{3}\phi^3 + \frac{2}{15}\phi^5 + \frac{17}{315}\phi^7 + \frac{62}{2835}\phi^9 + \dots, \end{aligned} \quad (3.13)$$

where the  $B_{2k}$  are Bernoulli numbers, the first few of which are

$$\begin{aligned} B_2 &= \frac{1}{6} & B_8 &= -\frac{1}{30} \\ B_4 &= -\frac{1}{30} & B_{10} &= \frac{5}{66} \\ B_6 &= \frac{1}{42} \end{aligned} \quad (3.14)$$

we are then led to equations analogous to (3.2) and (3.3). The results are

$$u_0^{(2k+1)} - 2u_0^{(2k-1)} = [2 \tan^3(\phi)]_{\phi=0}^{(2k-1)} \quad (3.15)$$

and, hence,

$$[2 \tan^3(\phi)]_{\phi=0}^{(2k-1)} = (-1)^k 2^{2k+1} \left\{ \frac{2(2^{2k+2} - 1)B_{2k+2}}{(2k+2)} + \frac{(2^{2k} - 1)B_{2k}}{(2k)} \right\}. \quad (3.16)$$

The series expansion for  $\tan^3(\phi)$  is then given by

$$\tan^3(\phi) = \sum_{k=2}^{\infty} \frac{(-1)^k 2^{2k}}{(2k-1)!} \left[ \frac{2(2^{2k+2} - 1)B_{2k+2}}{(2k+2)} + \frac{(2^{2k} - 1)B_{2k}}{(2k)} \right] \phi^{2k-1} \quad (3.17)$$

$$= \phi^3 + \phi^5 + \frac{11}{15}\phi^6 + \frac{88}{189}\phi^9 + \dots \quad (3.18)$$

Still another example, from which an expansion for  $\sec^3(\phi)$  may be found, is provided by the initial value problem

$$\begin{aligned}u'' + u &= [2 \sec^3 \phi] \\u(0) &= 1 \\u'(0) &= 0.\end{aligned}\tag{3.19}$$

It is easily verified that  $u(\phi) = \sec(\phi)$  is a solution. The procedure of repeatedly differentiating the differential equation then results in the expansion

$$\begin{aligned}\sec^3(\phi) &= \sum_{k=0}^{\infty} \frac{(-1)^{k-1}}{2(2k)!} [E_{2k+2} - E_{2k}] \phi^{2k} \\&= 1 + \frac{3}{2} \phi^2 + \frac{11}{8} \phi^4 + \cdots,\end{aligned}\tag{3.20}$$

valid on the interval  $|\phi| < \pi/2$ .

The expansions obtained in (3.4), (3.17), and (3.20) are simpler in form than those that would have been obtained by taking Cauchy products. On the other hand, the process by which these series were obtained is somewhat special in that the solution to an initial value problem must be known, along with the values of the derivatives of the solution at 0. Thus the initial value problem has to be carefully chosen. We note also that the process of repeated differentiation of a differential equation may sometimes be used to generate coefficients for series solutions. The reader interested in this application should see [3], for example.

#### REFERENCES

1. M. Abramowitz and I. A. Stegun, editors, *Handbook of Mathematical Functions*, National Bureau of Standards, Applied Mathematics Series, Washington, DC, 1964.
2. K. Knopp, *Theory and Application of Infinite Series*, Hafner Publishing Co., New York, 1971.
3. W. E. Boyce and R. C. DiPrima, *Elementary Differential Equations*, 3rd edition, John Wiley and Sons, Inc., New York, 1983, p. 166.

---

“It always seems to me absurd to speak of a complete proof, or of a theorem being rigorously demonstrated. An incomplete proof is no proof, and a mathematical truth not rigorously demonstrated is not demonstrated at all.”

—*Sylvester's Collected Works*, Vol. 2, p. 200